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1. Show that {1,5.-4) is in the span of (2,4,-2) and (2,3, 1) by writing it as a linear”
7 combination. Set up equations and soive. ’““f{’ Mt _ )
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2. The vectors (2 0.4) and (1,3,2) do not span R3. Find the algebraic condition that the

1 vector (x{ Xa, ng must satisfy to be in the span of these vectors. (This will be the
equation of the plane through (0,0.0) containing these vectors.) A
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3. Verify that the set of vectors (x;, %y, Xz) for which X+ Xg¢ x3
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™ 4, Show that the set of vectors (X, ¥,) for which Xy = 0 Or X3 = 0 is NOT a subspace of RZ

& w}fj v
LA A ;

. v .
P Y B f"f o i
{z PR A f;-; T {{ } FEART ot e R

. Find the quadratic polynomial which passes through the points (-1.2), (0.3}, and {1.7).
Set up equations, and solve. _
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